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CE-1901-11 - Dr. Durant - Quiz 1
Fall 2016, Week 1

(1 point) An analog voltage signal is allowed to vary continuously within some range. An ideal
digital voltage signal takes on a finite number of levels; when there are only 2 levels, we have a
base-2 or binary system. What is a key advantage of a digital/binary system over an analog one?
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(1 point) What is 2" as a decimal number?
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3. (2 points) Write all the 4-bit unsigned numbers in both binary and decimal.
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4. (2 points) List/calculate the powers of 2 from 2" to 2'% as decimal numbers.
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5. (1 point) Convert 1100%0 from binary to decimal. Show your work.
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6. (2 points) Convert 57 from decimal to binary. Show your work.
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7. (1 point) What is the largest unsigned number that can be represented with 7 bits?

a. Answer in decimal (base 10):
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b. Answer in binary (base 2):
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CE-1901-12 - Dr. Durant - Quiz 1
Fall 2016, Week 1

(1 point) An analog voltage signal is allowed to vary continuously within some range. An ideal
digital voltage signal takes on a finite number of levels; when there are only 2 levels, we have a
base-2 or binary system. Considering noise, explain why a binary system is preferable to, say, a
base-4 (4 discrete voltage level) system
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2. (1 point) What is 2*as a decimal number?
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3. (2 points) Write all the 4-bit unsigned numbers in both binary and decimal.
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4. (2 points) List/calculate the powers of 2 from 2° to 2% as decimal numbers.
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5. (1 point) Convert 110101 from binary to decimal. Show your work.
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6. (2 points) Convert 95 from decimal to binary. Show your work.
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7. (1 point) What is the largest unsigned number that can be represented with 8 bits?

a. Answer in decimal (base 10):
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b. Answer in binary (base 2):
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